    I copied the code present there (you need to slightly modify it for your solution)

       Example G01 

       %                       (PROGRAM START FLAG) 

       :1002                   (PROGRAM #1002) 

       N5 G90 G20              (BLOCK #5, ABSOLUTE IN INCHES) 

       N10 M06 T3              (TOOL CHANGE TO TOOL #3) 

       // you can omit the above statement, (optional)

       N15 M03 S1250           (SPINDLE ON CW AT 1250RPM) 

       // same with the above statement, since no information is given regarding the speed 

       // and feed, (its better to assume some value)

       N20 G00 X1 Y1           (RAPID OVER TO X1, Y1) 

       // X1, Y1 = (2in + 0.8in), (2in + 0.5in)

       N25 Z0.1                (RAPID DOWN TO Z0.1) 

       // just above the surface

       N30 G01 Z-0.125 F5      (FEED DOWN TO Z-0.125 AT 5IPM) 

       // change -0.125 to -0.1 and since feed is not specified, leave it as it is.

       N35 X3 Y2 F10           (FEED DIAGONALLY TO X3, Y2 AT 10IPM) 

       // X3, Y2 = (2in + 3.2in), (2in + 1.5in), leave the feed as it is

       N40 G00 Z1              (RAPID UP TO Z1) 

       // Z1 = 2in

       N45 X0 Y0               (RAPID OVER TO X0, Y0) 

       // starting point X0, Y0 = 0, 0; 2in left and 2in bottom of down left corner

       N50 M05                 (SPINDLE OFF) 

       N55 M30                 (PROGRAM END) 

        the X#s, Y#s, Z#s can be substitued with the respective values from the figure.

